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1. [Ipt] What is the elementary matrix corresponding the row operation
p1 <> po applied on matrices with 3 rows? What is its determinant?

L. [ det (E) =)

2. [1pt] What is the elementary matrix corresponding the row operation
po : X2 applied on matrices with 3 rows? What is its determinant?

)
E =( > ) Jet(E)—2

3. [1pt] What is the elementary matrix corresponding the row operation
p1 : +5po applied on matrices with 3 rows? What is its determinant?

[ &
E- / Jet(E) =/

b E——

4. [2pt] Find a 4 x 4 matrix A such that det(A) = 5 and every entry of A
is nonzero. (Explain why your answer is correct.)
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5. Let
11 1 1 1 7 10 0 O T |
12 4 8 16 12 4 8 16
A=113 9 27 8 | andB=|13 9 27 81
1 4 16 64 256 1 4 16 64 256
1 6 36 216 1296 1 6 36 216 1296

(a) [1pt] Find det(A).
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(c) [2pt] Find the z such that det(B
= 4 &/g / 2
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6. Show that det(A) = det(A") for any square matrix A.
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7. [5pt] EZEAE L ¢ BBk G RASB SRR BN AN BT E
#75] {44 (determinant)
FHAFHIKXEOE L EMBELRATE—FRAANGARER - F A
ALK~ RFOENHA - RARRNRAALMNEEE EEHRY
BRA P — R H ARG T o 8RB — R AR 4E W
P A BT A LB R MBI o XA RH > R IR
R&GF@ms| —@ o
(If Chinese is not your native language, you may use English or the
language that you prefer.)
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8. [extra 2pt] Let A be the 9 x 9 matrix

01000000 1]
101000000
010100000
001010000
000101000
000010100
000001010
000000101
100000010
Find det(A).
geﬁ ver. A

[END]
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